NEC

Support Kit Handling Instructions

Model NPO2LK

YiR— b4y FEIREHEAS
844 NPO2LK

XIBEHRERES
#5 NPO2LK



CONTENTS

Introduction 3
CAUTION 4
Things to prepare 4
Included items 5
Preparation 6
How to install the support Kit.........coeevererrrrererernnes 7
Adjusting the vertical position of a

projected image (Lens shift) ........coowuenee. 14
Adjusting the focus 15
Adjusting the tilt 18

Tilt adjustment during portrait projection....... 19

=PA

IEC&IC 3
AR 4
BEJI5EM 4
[EIHH SR 5
# i 6
HR—FFY FOE T TT e 7
KREBBEDMEDARE (LAY TR . 14
TA—H AT 16
FIU SEIE 18
R—rL—FREROBEEFEE..ccccor 19
HE
4B 3
= 4
EEERNED 4
HEYm 5
HEETIE 6
M REZEEN 7
FEEGEENERENE (BABAL) 14
VHEEAERR 17
PEMRE 18
HITNE R BB EIAEIEEE e 19

2



(English)
Introduction

This is the handling instructions of the support kit for the fixed focus lens NP44ML.

This document describes how to attach the support kit and how to adjust it.

For USA:

About the procedures for mounting the lens unit, please refer to the projector User’s Manual.
For other countries:

To mount the lens unit and the support kit, consult your dealer.

Supported projectors
PA1004UL-W/PA1004UL-B/PA804UL-W/PA804UL-B

|NOTE: lllustrations on this instructions may slightly differ from the actual products.

FETIE YR—bFv O MIF EFBEOGEZHBLTVET,
L>ZX3Zw b ETR— by POEWIHE BRFEEICERBELTIEEL,

HE7adz 42—
NP-PA1004UL-WJL/NP-PA1004UL-BJL/NP-PA804UL-WIL/NP-PA804UL-BJL

IR AZDA SR MIRBORRLEZVELEDHENDVET,

TR

A EE K NPA4AML THEEHRIRER .
AR R T E U R A H T .
BRREGELMOSNTR, BSARTI AR FH.

SIRRHR R
NP-PA1004UL-W-+/NP-PA1004UL-B+/NP-PA804UL-W+/NP-PA804UL-BJ+

[ AR A 5 b R B A




/\ CAUTION

- After installing the lens unit, be sure to secure it to the projector using the support kit. Fail-
ure to do so could cause the lens unit to fall, resulting in injury.

« Power off the projector and unplug the power cord before installing the lens unit and the
support kit.

Things to prepare

« Phillips head screwdriver

- For ceiling mount or portrait position, a mounting bracket with sufficient strength to support
the combined weight of the projector, the lens unit, and the support kit

A\iEE

- LyRAZy b BRI fIE. & R— by oLy X2y b ETaY Ty
B—AERICEELTLREL, BELAGWVE, LYXIAZYMSETFLTG WHDREEE
VESCE

< LYZXAZy bETR—bRY bOBUMIHE. 7OV I2—D8EREYY. BRI ST
A1 MY SIRWRRETIT o TEE LY,

BET3L0D

- PIRRSAN—

- RBYEEFA— L — I CRET BB, TOVIIE—FMEELYXITY MBKUH
F—hFv M OBETHHTRISNBEY ST LB

AixE

 RESIBETE SVERTEEHSEEERREN L. ENAESHELETEE,
NMEBASHE.

. BRESS BT ESEESZE, BEARSIERFE TERESZ.

R EFAED

- tEkBLT]

- MTFRERBRIHEOMLE, FELBRERBENLHERIN. BLBTHXBHE4ALER
IR R H LR



23 ©
2
23
23

Included items

(@ Support bracket

(@ Screw (M4x10) 8 pcs
®) Screw (M4x20) 1 pc
@ Adapter

i

O YR—+EE

@ %Y (M4 X10) 8&
® &Y (M4 X 20) 14
@ 7R TR—

M &4

O ZEZHE

@ 24T (M4X10) 84
@ 4T (M4X20) 14
@ &




Preparation

Return the projector lens position to the home position without the lens mounted.

For details on connecting the power cord and turning on/off, refer to the projector User’s Manual.

(D Connect the power cord to the projector, and then press the (& (POWER) button to turn on
the power.

() Press and hold the ZOOM/L-CALIB button for 2 seconds or longer.

(® After the lens movement is finished, press and hold the SHIFT/HOME POSITION button for 2
seconds or longer.

@ After the lens movement is finished, wait for 10 seconds or more and then press the &) (POW-
ER) button twice to turn off the power to the projector.

(® Remove the power cord from the projector.

L>YXAZy bERIVMIFTOGEWNKET, 7OV 72—DL Y AfBER—LRY

avIRLEY,

EEJ—PGEﬁ&%ﬁA/WKODT\ﬁb(@jﬂ/l?@ DOEIKEHAEZ T8

e

(37D/179—r*ﬁ: FEEHL. O RE2VEBLTERE ANS,

@ [ZOOM/L-CALIB)] "2 > 7% 2 FH LI ER T,

@ LV ADOERL T, [SHIFT/HOME POSITION] 7R% > 7% 2 FOLL_HIRT,

@ LY ZDEMERTHR 10 BULERFSTHS. ORZVZ 2B\ LTTOY I 72—DER%E
5,

® 7OV v2—h5ERI—RZEIAT,

EARREBIHBER TTHEEENELRRVIGEALE.
BREZBRBLNTG / <HAEAES, BSRBEINBAFM®.

O BHRBEEEZEEREN, RERO (BR) #FEERE.

@ #21E ZOOM/L-CALIB # 2 F ey <A E].

@ ELBITAT, E SHIFT/HOME POSITION & 2 #héha] EK .

@ EELBHERG, E55 10 WEKME, KERO (BE) B KmEEER.
® BHEBLMAEEI LB T,



How to install the support kit

1. Turn over the projector.
Lay down the projector cabinet upside down on a table with soft cloth laid. While doing this,
align the front of the projector with the end of the table.

/\ CAUTION

« For moving the projector, make sure you have at least two people. Attempting to move the
projector alone could result in back pain or other injuries.

R—FF FOBRYHIFSE

1. 707102 %%EY,

ROSHPVHEEEEBVEDLIL, TAV I/ 2—EBELTHNCEEEY, oL

E 7OV - OREEEDKICEDETIREL,

A\ EE

- AERIE 2 ALLETIT T IEEL, TOYT98—% 1 A\THE LFTIBE. IO RER
DERLEHTEDBYET,

IMIREXIEEN

1. B E .

BRIV IER B ERANET L. BUTILRER, RSN ERS S TFHR S

AiE®

. BHREEN, BREEOEENTRE. RESRBHR PSSR L NER
S EAA S1HE,




2. Fix the adapter to the lens unit.
As describing on the illustration, put the adapter on the lens unit whose protrusions meet with
the screw holes on the adapter and fasten them by 2 screws (M4x10).

[NOTE: Do not touch the glass on the lens unit.

2. LXA=y McTR 72— H113,
TATE—EROAEICLT.ZINHALY Iy FOERICES LS ICBE. XY (M4
X 10) 2 KT LOMFET,

[EE EEhiE. LY XDAS AEICNEVNTREEL,, |

2. H5iE B 78 ElE EH L BT,

WMEMTR, BEERNERLSET L, ERUBSEEERR EHBFLENE, FRARNEET
(M4X10) F5EE|%E-

[F B IS 55 L. |




3. Adjust the tilt of the lens unit.

Adjust the focus balance at the periphery of the projected image.
For table use: Move the tilt lever to the “+" position.
For ceiling use: Move the tilt lever to the “-“ position.
For other uses: Move the tilt lever to the center (around “T” letter).

3. LXZX2Zy FDFIV I REETS

KREBEOBDERDT #—HAINZ VA ZRELET,
T—IICRET 258 FILELN—Z+DMABICEDEET,
KARYTRETZHE  FILELN\—Z-DREICEHEET,
LFERUANTRERETSHE - FILELN—FEFR (TOXFE) ICEHEET,

3. IFEHE LB ITHINFE.
FERZEGINERRETE.
MFEREER  HEPFBEE " LE,
MFEXRER EER  BEMFBE"-" L&,
FEARE  EMFEsHERO (T FEEE).



4. Mount the lens unit on the projector and adjust the lens position

(@ According to the instructions on the projector manual, mount the lens unit onto the projec-
tor.

(@ Connect the power cord to the projector and power it on.

® Press and hold the SHIFT/HOME POSITION button for 2 seconds or longer to move the lens to
the home position for NP44ML.

@ When the lens movement is finished, wait 10 seconds or longer before turning off the power
and removing the power cord.

4. 7071 02—IcL XAy FERYVHIT, LXDuEEEDES,

O 7OV Z—DREHBPEINRHSTC TOVIIZ—ILYRI Ty MERIGTS,

@ 70V 2—|CERI—FEERLT EREANDS,

® [SHIFT/HOME POSITION] /RZ > % 2 FOLL B3R LT, L RDATIER NP44ML DR—LRI Y/ 3
NCHEBNIT B,

@ LY ADE}ELTHR 10 WU ERBLTHSERAY)Y,. BREI—RZERUAT,

4. RSB EREREN L, HiAEELLE

O WRIBEEY BPFH LA, BELaTREREN L.

@ BHEBEEZEERENHTBER.

@ $2{E SHIFT/HOME POSITION & 2 #h#hei EhtE), DUEGELBEZE NP44ML BIFNIA LB
@ BTG, EF 10 WHBERKRE. FiZE, FAREVHEREREZ.

10



5. Adjust the support bracket.
(@ Loosen the wing nut on the support bracket and pull out the L-shaped metal fitting.
(@ Rotate the dial to align its hole with its top position.

6. Fix the support bracket to the projector.
As shown on the illustration, place the support bracket and use four screws (M4x10) to tighten
them.

5. YR— £ BEARETS.
O FHR—rRBIHVTV 28T Y b a5, LFREDSB%E5[EHT,
@ 2 VIVEEILT. BOZELAlIcEDES,

6. 7O 14— Y FK— FEEERYHI15,
PR—FEEZRDESICEE. XY (M4 X 10) 4K TLOHMFET,

5 HEXEXE.
O MAXERRE ENRTEE, it L RERE.
@ ekt B EE AL S TEML E X 5F

6. FFZIEZRBIEFIRFHY L.
WERTR, MEEZRHAE RN EET (M4X10) KEITE.



7. Connect the support bracket to the adapter.

Move the L-shaped metal fitting of the support bracket to meet with the adapter, and insert the
adapter pin into the hole of dial.

When doing this, make sure that the L-shaped metal fitting and the adapter are so securely fixed
that the adapter pin can be seen through the hole of dial.

7. YR—FRBETETE—ER T B,

PR— P EEDLFROLBZIN LT L TE—ICH T THT2—DEVELAY)V
DREOICANE Y.

ZoLE LFRDSBET I T2 —HARRIHVT, 44 VILOBONSEVHARAT
WBT LERRLTREL,

7. HEIETRIEE EIEA .
BHXEZRN L KEREY, FEEERFENE, HHBERFARIHEANRRNTLT.
HEHUTILERMER, BMARERE L KeBRM45ERs, NMAEIK R EEEREMH.

12



8. Tighten a screw to fix the support bracket and the adapter.
@ Tighten two screws (M4x10) to fix the L-shaped metal fitting and the adapter.
(@ Tighten the wing nut.

This completes mounting the support kit.
After installing the projector, connect the power cord and video cables, and then turn on the
projector. Finally, adjust various items.

8. Y R— £ BEETRT2—EXITLOIIS,
@O 2T (M4 X 10) 2FZFEOCLFREDEBEETLT2—% L5,
@ 7 bz LTS,

ZhT, BR—-bFvy FORY IOV E LT,

7OV 72— ERELTCERI— FPRGEr—JILEERL. 7OV 1742-DER%E
AMTEEDREZITOTLILEL,

8. P EMETL B 18 X BB 78

@ IR EET (M4X10) UEEE L & BELHFIERL 3.
@ IR IRE

BHRTRT ZEEHNRE.
RERTNG, ERRBEAMMELY, ARHERZV. &E, BEEHE.

13



Wing nut Screw
®rw bk Y
HR MR B 42T

Adjusting the vertical position of a projected image (Lens shift)
To shift the lens, loosen the wing nut and screws that were fastened in step 8 for the support kit
installation procedure.
To adjust the horizontal direction, loosen the wing nut
To adjust the vertical direction, loosen the two screws
For details on lens shift operations, refer to the projector User’s Manual.
* Tilt adjustment (— page 18) may be required when the vertical direction is adjusted.

After adjusting, tighten the loosened wing nut and two screws.

REBEmOMEDHAE (LYXYTH)

LYZX2 7 hE R— by FRUSFFIED 8 TLOMIF kT v PRI ZDZ D
FOREETITWE T,

KEFAZRFET 555 (kY b ZREHET

BEEAAZRETDHE | RV 2K ZPDHET
LY X7 FOBEICDWTIE, 7Y 72 —DERkEAZEZ B LT,
XREEEAMZRFELLIBAIE. FIVMEE (518X—Y) BREICLZHEDHYET,

AEDRDOfcE. WBOIHET Y PRI 2EK% LOMITET,

AR GHEENE (BB)

EBHEL, FRIEIHEEHRRKEFNSR 8 T RHRA 2 FFEET,
ZFREKTTIE, FRREER
EREEFAE, FRIWNEET

BXRE\EABARERFRE, BRI AR FH.

* FOREEESEN, AREFERITHRAE (- %185,

HEE, FRRSINRIEEHEET.
14



(English)
Adjusting the focus

- Please read the precautions in the projector user’s manual carefully before using the optional

lens NP44ML.

1. Press the FOCUS button.

The [LENS FOCUS] control screen will be displayed
on.

LENS FOCUS
CENTER « »

ENTER EXIT

Press 4P buttons to adjust focus of screen center.

*  [PERIPHERY] LENS FOCUS is not available for this
lens unit.

2. Press the ZOOM/L-CALIB. button on the cabinet.

The [LENS ZOOM] control screen will be displayed
on.
* In another way, press the ZOOM button on the
remote control.
LENS ZOOM

A
v

ENTER EXIT

Press €4p> buttons to align the focus of screen pe-

ripheral area.
p— —
=
(3>
o=

15

s
/T

ol

i,




=)

(B&F

Tx—hRARE

JOY 105 —DHIREAEDIEEIR

(SN

® 1723V UV ANPAAML ZfERT &l

i <TEEL.

i

)

i i i £

T I7 7777 g gl 77 77777

I I 59

~X
o R
ﬂ_

.Z o
snB
e =
|Sys! M
e I3
dE 2

g %
BB

E_____WIU Aﬂ
aRE |
hvz._”..—k._ o_./
SR
N g —
SNETL
C_/Abb\L
O\//Am_ﬁ
LAV .

1.

VXTI A—HA

sl

Bl& ZOOM & 7%

R V&EFEHT,
5

BEDRRSNE T,
- UEIOVTERIETD

2. ZOOM/L-CALIB.
A—LiH%E

HLEY,
4/ PRI VR UCEER

PAN
=

BhADT #—NA%

nDEFI,

L VAR — 1y

16



()

LR

- IBFHEIERENBRFRTNTEESE TR BERRNESE S NP44ML.

1. ¥ FOCUS 24l
BEREABRE I EFEE.

2. izH#E LR ZOOM/L-CALIB. $z§l.
BERELTE EFEmE.
* B EIRIEES EH ZOOM 24,

17



Adjusting the tilt

(@ Loosen the two screws that were tightened in step 8 for the support kit installation pro-
cedure.

(@ Use your hand or a Phillips head screw driver to rotate the dial of the support bracket, and
then adjust the vertical focus balance of the projected image.

(® Tighten the two screws that were loosened in step (D).

@ Adjust the focus again and check if you have obtained the best focus balance in the vertical
direction.

FIV MEIE

@ YR—bFY FEIIFFIED 8 TLHMF eI 28 %Z D285,

@ FERIETIARTAN—ZFEOTC FR—IEDHV/LZEL, REBELETFOT4—
HADINT > RS B,

@ D TWBHRY 248%Z LDHFT5,

@ BE74—HAREETV. REEELTOT4+—HADNSGVANERICHEOTNSIE
ZHEERT B

AR I E

O MBEZEEGREEFHSR 8 TR/ 2],

@ RFHTFRBLIEEEXRNER, ARRERYRGNEERETE.
@ FEESR © PRFHANEET.

@ BROFEER, HUERTCREEEHRNSES FH.

18



Screw insertion port

2 VBAL
E5E N
] %
() - [e) -
o @ o0 @
= =)@

=

i
Wing nut
B b
R FLAREY

Tilt adjustment during portrait projection

If the lens unit tilts downward when portrait orientation is used with the projector installed ver-

tically, follow the procedure below to adjust the tilt.

* The stand that supports the projector is omitted in the drawings for clarity.

(@ Loosen the wing nut that were tightened in step 8 for the support kit installation procedure.

@ Insert the screw (M4x20) through the screw insertion port on the upper side of the support
bracket.

® Turn the screw to adjust the tilt of the lens unit.

@ Tighten the wing nut that were loosened in step (.

F—FL— MIEROMEERE

FHEEAEMTRBLTR— ML — MREETO>TWAEEIL, Ly XAy FHTFAELS
Bl UTOFIETEETAFAELET,

KT, A EEZZ DR 2 REEHE LA S A MILTVWET,

O HR—brFy MU EIBD 8 TLOF S b EpB 85,

@Y FR—rEEDOLADXIVBAONS XY (M4 X 20) ZEHEAT B,

@ xYEELC LAy hOEEERET S,

@ QTBHIES Y M LS5,

HEITEN R R EA 1B A i R B

HEEERERZVABITEBMETTEE, MR BITE TR, WREUL T FRER.
* TR E I RERRPEZEE, RGEWHBR.

O MBEZEERREEFHPR 8 hirRHIRF IR,

@ FHEET (M4X20) HENSTIE SR EMBERETHIIA RO

O meFEIRSTLUA S L BT AIR o

@ #FEESR O PTG EER.

19



© NEC Display Solutions, Ltd. 2020
Printed in China 7N8R0562



	Support Kit Handling Instructions
	CONTENTS
	Introduction
	CAUTION
	Things to prepare
	Included items
	Preparation
	How to install the support kit

	サポートキット取扱説明書
	目次
	はじめに
	注意
	用意するもの
	同梱品
	準備
	サポートキットの取り付け方

	支撑套件操作说明书
	目录
	介绍
	注意事项
	需要准备的事项
	内含物品
	准备工作
	如何安装支撑套件


